
Tapping screw
Vis taraudeuse

 1/2"

3D1616LA

All required hardware is included.
Please check the contents with 
your packing slip.
Read instructions carefully.
Save this document for future 
reference.

Assembly GuideR Line Guide d’assemblage Ligne R
Toute la quincaillerie requise est 
incluse.
Veuillez vérifier le contenu avec votre 
feuille de livraison.
Lisez attentivement les instructions.
Conservez ces instructions pour 
référence future.

Pannel support (waste / recyc. compart.) Panneau soutien (compart. rebus / recyc.)

R1C-JN14BPage 1/2

7D00201C

rousseaumetal.com
1-800-463-4271

Bottom Part Assembly Assemblage partie du bas

 5/8"
3x

QuincaillerieHardware Outils requisTools Required

7/16"

1/4-20 bolts
Boulons 1/4-20

 5/8"

3A1818L2

3x3x

3D5326T2

 1 1/4''

Tapping screw
Vis taraudeuse

3x

7/16"
1/2"

no.3Ø 3/16" 

Le panneau de soutient RB57 peut-être
installé à la fin seulement (si requis) 
après la porte RB53.

Panel Support RB57 can be installed 
at the end only (if required) 
after the door RB53.

RB57

RB53

RA59/60

1/4-20 nuts
Écrous 1/4-20

3S1801Z2

3x

2x Ø 7/32" 

1/4-20 bolts
Boulons 1/4-20

 1"

3A1824L6

4x



Top Part Assembly Assemblage partie du haut

Page 2/2rousseaumetal.com
1-800-463-4271

Base Reinforcement Assembly Assemblage renforts de base

 1 1/4''

3x

Bottom view / Vue de dessous

Align with the side of the worksurface.
Aligner avec le côté de la surface de travail.

All other tops or for wood cross bar if installed with steel top
Tous les autres dessus ou traverse de bois si avec 
dessus en acier  

Laminated wood top                 
Dessus en bois lamellé Ø 7/32"

Ø 3/16" 

11/4"

Cache-baseCover Plate

Door stopper Assembly Assemblage de la butée de porte

This door stopper replaces the 
one supplied with the Waste and 
Recycling Door RB53. It is 
specially designed for use with 
Panel Support RB57.
 
Cette butée de porte remplace 
celle fourni avec le panneau 
pour rebus et recyclage RB53 et 
est spécialement conçue pour 
l'utilisation avec le panneau de 
soutient RB57.

IMPORTANTIMPORTANT

 1/2"

2x

Adjust position to 
make it flush with 
front of Panel 
support RB57. 

Ajuster la position 
pour qu'elle soit à 
égalité avec le 
devant du 
panneau de 
soutien RB57.

 1"
4x


	Page 1
	Page 2

